Business General – External Influences [Economics]

	Spotlight on the theory

	Demand Curve, Movements

	The Law of Demand states that the demand curve is downward sloping.

There are TWO types of change in demand;

1. Movement ALONG the demand curve
2. SHIFTS in the demand curve

A movement ALONG the demand curve
A movement along the demand curve is caused by a change in PRICE of the good or service. For instance, a fall in the price of the good results in an EXTENSION of demand (quantity demanded will increase), whilst an increase in price causes a CONTRACTION of demand (quantity demanded will decrease).

A SHIFT in the demand curve
A shift in the demand curve is caused by a change in any non-price determinant of demand. The curve can shift to the right or left.

A rightward shift represents an increase in the quantity demanded (at all prices), D1 to D2, whilst a leftward shift represents a decrease in the quantity demanded (at all prices). D1 to D3.


The movements can be caused by the following;

· change in consumer income - If consumer income increases, then consumers buy more normal/luxury items and the demand curve shifts to the right (D1 to D2). 

· Change in the price of other goods - if the price of a complementary good increases then the demand for the good will fall. This will result in a leftward shift in the demand curve of any complementary good (D1 to D2). However, if the price of a substitute good increases, then the demand for the other good would increase as consumers switch their consumption patterns (D1 to D2) 

· Changes in tastes and fashions - if a good becomes fashionable then the demand for the good will shift to the right (D1 to D3). 
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How will the demand curve for a normal good shift if the price of a complementary good falls? (Select one answer)
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How will the demand curve for a normal good shift if the price of the good becomes more expensive? (Select one answer)
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	Spotlight on the theory

	Supply Curve, Movements

	The supply curve is upward sloping.

There are TWO types of change in supply;

1. Movement ALONG the supply curve
2. SHIFTS in the supply curve

A movement ALONG the supply curve
A movement along the supply curve is caused by a change in PRICE of the good or service. For instance, an increase in the price of the good results in an EXTENSION of supply (quantity supplied will increase), whilst a decrease in price causes a CONTRACTION of supply (quantity supplied will decrease).

A SHIFT in the supply curve
A shift in the supply curve is caused by a change in any non-price determinant of supply. The curve can shift to the right or left.

A rightward shift represents an increase in the quantity supplied (at all prices) S1 to S2, whilst a leftward shift represents a decrease in the quantity supplied (at all prices). S1 to S3.
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The movements can be caused by the following;

1. Change in costs of production - if the costs of production increase then the potential profit will fall. This will cause producers to look at alternative goods to produce. Therefore, an increase in the costs of production will cause a leftward shift in the supply curve.
2. Role of technology - if the degree of technology employed in production increases then firms will be able to make more goods with their given level of inputs (factors of production). Therefore, an improvement in technology causes the supply curve to shift to the right.
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How will the supply curve for a normal good shift when the price of labour increases? (Select one answer)
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How will the supply curve for a normal good shift when the price of the good increases? (Select one answer)
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	Spotlight on the theory

	Interrelated Markets

	Most markets are interrelated with other markets. In other words, the events in one market will have consequences in other markets.

The relationship between goods includes, complements, substitutes, derived demand, composite demand and joint supply.

Complementary goods
A complementary relationship occurs where both goods are consumed together. This is also termed Joint Demand. Examples include strawberries and cream.

Economic theory would imply that if the demand for strawberries increased, then consumers would also increase their demand for cream.

The figure illustrates the relationship. The price of Good A falls due to an increase in supply (S to S1). This results in an increases in the quantity demanded (Q to Q1). As consumers increase their demand for Good A, they will also increase their demand for the complementary good (in this case, Good B). The demand curve for Good B shifts from D1 to D.
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Substitute Goods
A substitute good is where the goods can replace each other. This is also termed Competitive Demand. Examples include Coca-Cola and Pepsi-cola.

Economic theory would imply that the individual will try to maximise their utility (satisfaction) with their fixed budget. Therefore, if goods give the same satisfaction when consumed, then consumers will switch between them depending on price. In other words, if the price of Coca-Cola increases then the demand for Pepsi-cola will increase.

The figure illustrates the relationship. The price of Good A falls due to an increase in supply (S to S1). This results in an increase in the quantity demand (Q to Q1) as consumers switch towards purchasing the relatively lower priced good. As consumers switch the demand for substitute goods falls (D to D1).
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Derived Demand
Derived demand is when the demand for one good is due to its being used within the production of another. For instance, the demand for steel is derived in part from the demand for cars. Therefore, if household income increased, the demand for cars would increase (demand curve shift to the right), the higher demand for cars will increase the demand for the factors of production used to make a car. This will cause the demand for steel to increase (demand curve shift to the right).
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	Spotlight on the theory

	Explaining the National Minimum Wage

	For the most current information on the national minimum wage, visit the Inland Revenue Web site (www.inlandrevenue.gov.uk)
The National Minimum Wage became law on 1 April 1999.

The minimum wage is the minimum amount of pay that workers aged 18 years or older are entitled to.

There are two levels of minimum wage dependent on age:

· £3.20 per hour for workers aged between 18 and 21 years. (£3.00 per hour up to 01/06/00) 

· £3.70 per hour for workers aged 22 years or older. (£3.60 per hour up to 30/09/00) 

There is also an accredited training rate of minimum wage;

· it is £3.20 per hour, and is for workers aged 22 years and over who start a new job with a new employer and do accredited training. 

· the rate can only be paid for the first six months of the new job, after which the worker must get at least £3.70 an hour. 

· accredited training is a course approved by the UK government to obtain a vocational qualification. 

Most adult workers in the United Kingdom must be paid at least the national minimum wage. It does not matter:

· how you are paid 

· if you are part time or full time 

· if you are a casual worker, a home worker or an agency worker 



Top of Form

Question

An increase in the national minimum wage will; (select one answer)
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increase household income because it will increase household benefits
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decrease household income because it will decrease household income
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	Spotlight on the theory

	Market Equilibrium

	Markets exist in all types of goods and services, and as economists, we are interested in how they work and what causes them to change.

The market price is determined by the interaction of market supply (producers) and market demand (consumers).

The point at which the quantity demanded equals the quantity supplied is the equilibrium point. This point states the price of the good (P1) and the market quantity (Q1).
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Assuming that neither curve shifts, then market forces will maintain the equilibrium price. For instance, assume that the price rises above P1, then the firms will react by wishing to supply more (the price is higher, therefore, the revenue will be higher), at the same time consumers will demand less. The outcome is that there is excess supply. In other words, supply is greater than demand.

This situation results in producers having unsold stocks. In this case, producers will wish to sell stocks as they cost money to produce and maintain. Therefore, to sell them they will reduce the price of the good (contraction in supply). The lower price will encourages more demand for the good (extension in demand). This process continues until the supply and demand are again in equilibrium.

If the position of either the demand and / or supply curve shifts, then the equilibrium price and quantity will change. For instance, if the good becomes more fashionable, then the demand curve will shift from D1 to D2.
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The new equilibrium price will be P2.


next (
Fiscal Policy - Reflationary Fiscal Policy

Governments may choose to use reflationary fiscal policy

 in times of recession or a general downturn in economic activity. In this situation they will use their fiscal policy to give a boost to the economy. They may do this by lowering taxes in some form or by increasing the level of government expenditure. This will encourage people to spend more. If they lower indirect taxes

 then this will lower the prices of the taxed goods and encourage more demand. Alternatively they could lower direct taxes

. This will raise people's disposable income (their take-home pay) and therefore encourage them to spend more. Either way the level of demand in the economy should rise and help encourage economic growth.

Reflationary fiscal policies could therefore include:

· Cutting the lower, basic or higher rates of tax 

· Increasing the level of personal allowances (see the income tax explanation for more details on these) 

· Increasing the level of government expenditure 

Why not try some of these policies on the Virtual Economy? Click on the 4th floor on the side bar or on the link at the top of the page to access the model and try these policies. Try any of them and see the effect they have on the level of economic growth, unemployment and inflation. You should find growth increasing, unemployment falling and inflation rising (after a time-lag perhaps).

next (
Fiscal Policy - Deflationary Fiscal Policy

Deflationary fiscal policy

 is likely to be most appropriate in times of economic boom. If the economy is growing at above its capacity this is likely to cause inflation and balance of payments problems. To try to slow the economy down the government could either raise taxes in some form or perhaps reduce government expenditure. Either of these will reduce the level of demand in the economy and therefore the level of economic growth. It may increase indirect taxes

 which will raise prices and deter people from spending so much, or it may increase direct taxes

, which will leave people with less money in their pockets and so stop them from spending so much.

Deflationary fiscal policies could therefore include:

· Increasing the lower, basic or higher rates of tax 

· Reducing the level of personal allowances (see the income tax explanation for more details on these) 

· Reducing the level of government expenditure 

Why not try some of these policies on the Virtual Economy? Click on the 4th floor on the side bar or on the link at the top of the page to access the model and try these policies. Try any of them and see the effect they have on the level of economic growth, unemployment and inflation. You should find growth reducing, unemployment increasing and inflation falling (after a time-lag perhaps).

next (
Fiscal Policy - Fiscal Policy as a Supply-side Tool

Supply-side policies

 are policies that aim to increase the capacity of the economy to produce. Fiscal policy usually acts on the level of demand in the economy and the deflationary and reflationary policies on pages 2 & 3 are often known as demand-side policies

. However, it is also possible for fiscal policy to act on the level of supply as well.

Income tax will always have an effect on people's incentives to work. This will be true at most income levels. If income tax at low income levels is too high, people may choose not to work but to remain on benefits instead. If income tax on high levels of income is too high, people may choose not to work so hard and take risks. Ultimately they may even choose to leave the country if taxes elsewhere are much lower (a "brain drain").

Supply-side fiscal policies could therefore include:

· Cutting the lower and basic rates of tax to open up the gap between earnings in and out of work and ensure people have an incentive to work 

· Increasing the level of personal allowances for the same reason 

· Reducing the top rate of tax to encourage enterprise, risk-taking and the incentive to work hard 

Why not try some of these policies on the Virtual Economy? Click on the 4th floor on the side bar or on the link at the top of the page to access the model and try these policies. Try any of them and see the effect they have on economic growth and unemployment. When you cut taxes ensure you cut government expenditure by an equivalent amount. This ensures that your policies have no overall impact on demand. In this way you isolate out the supply-side impact of your policies. You should see an overall increase in economic growth over time as your policies begin to take effect.

next (
Advisers - Monetary Policy

Monetary policy is the use of interest rates and the level of the money supply to manage the economy. Interest rates always used to be set by the government (the Chancellor), but the incoming Labour government in 1997 passed control over interest rates to the Bank of England. The 'operational independence' of the Bank of England means that it can set targets for inflation and set interest rates at the level most appropriate to achieve those targets. The level is set at monthly meetings of the 'Monetary Policy Committee'

. A majority decision of the Committee is all that is required to change the level of interest rates.

Monetary policy may be used either to reflate the economy or to deflate the economy. To find out more about each of these and how monetary policy changes may affect the rest of the economy follow the links below or at the foot of the page:

· Using monetary policy to reflate the economy 

· Using monetary policy to deflate the economy 

· The impact of monetary policy on the rest of the economy 

next (
Advisers - General

The aim of any Chancellor is to run the economy in the most stable way possible, and to achieve a high level of economic growth. High economic growth creates higher levels of income and therefore higher living standards for the people in the economy. This makes running the economy sound very simple, but, in practice, achieving high economic growth is fraught with problems. The Chancellor also has to be aware of all the other economic targets.

The four main economic targets are:

1. A high level of economic growth (growth in GDP) 

2. A low level of unemployment 

3. A low level of inflation 

4. External balance (balance between exports and imports) 

The main problem is that achieving one of these targets often means missing one of the others, as they often move in opposite directions. For example, a high level of economic growth will help improve living standards and create lots of jobs, but it may also cause inflation and attract a much higher level of imports. So you have hit two targets and missed two! This means that, in running the economy, the Chancellor faces 'trade-offs' between the different economic targets.

For more detail on how you can aim to achieve each of these targets in the Virtual Economy, follow the links below or at the foot of the page:

· Economic growth - improving living standards 

· Low unemployment - keeping the dole queues down 

· Low inflation - maintaining price stability 

· External balance - competing against the rest of the world 

next (
General - Economic Growth

To help the economy grow, you will need, as Chancellor, to maintain the level of demand in the economy. You can do this by using your fiscal policy and monetary policy to influence the level of demand. If you find that the economy is growing too slowly then you can try to boost demand. To do this you need to encourage spending and so you could either cut taxes or cut interest rates. Either of these will help give people more money to spend, therefore boosting demand. Alternatively, you could as a government spend more yourself - increase the level of government expenditure. These policies are all called reflationary policies

.

To increase growth you may therefore want to:

· Cut taxes (direct taxes

 or indirect taxes

 taxes) 

· Cut interest rates 

· Increase the level of government expenditure 

However, tread carefully as you do this. Watch particularly the level of inflation, as if demand rises too much, firms may not be able to increase production quickly enough and prices may rise instead of output. If this happens, you may need to use deflationary policies

. These would simply be the reverse of the above:

· Increase taxes 

· Increase interest rates 

· Cut the level of government expenditure 

Not all economists would recommend using fiscal and monetary policy in this way, though. Some argue that it will make things worse and destabilise the economy. For more detail on the views of different economists, why not visit the Library on the 3rd floor. Check out the difference between Classical and Keynesian economists for more on this debate.

Why not try these policies in the Virtual Economy to see how well they work? Click either on the 4th floor in the side panel or on the 'Model' in the top navigation bar to get to the model. Have a look at the present forecasts for the economy and decide what you think would be the most appropriate policies. Watch out for inflation though - once there, it is very difficult to get rid of!

next (
General - Unemployment

Unemployment is very closely linked to the level of economic growth. If the economy is growing well, then there will be jobs created to satisfy this demand. However, if growth falters and firms need to reduce output, then they will lay people off. So when trying to achieve your unemployment targets and keep unemployment as low as possible, you need to watch the level of economic growth carefully. Economic growth tends to be cyclical (goes up and down in cycles over a period of time), and unemployment will also behave in this way. In periods of recession, there will be higher unemployment, and in times of economic boom, it will be lower. Your aim, in running the Virtual Economy should be to create a reasonable and stable level of growth.

The increased unemployment caused by a downturn in the trade cycle

 is called cyclical unemployment as it varies with the cycle of economic activity. There are also other types of unemployment, though there is less that you can do directly to change these in the Virtual Economy. However, you do always need to ensure that people have the incentive to work. If you put taxes up too much, then people may not want to work so hard, so try to keep the level of income tax down. This will encourage risk-taking and hard work and so should help the economy to be more productive. Also make sure that there is always a sufficient gap between the level of earnings that people can earn in work and the amount they get on benefits. You can do this by making sure that you keep the lower rate of tax down and the level of personal allowances up. This will help keep people on lower levels of earnings out of the 'tax net'.

Why not try some of these policies on the Virtual Economy? Click either on the 4th floor in the side panel or on the 'Model' in the top navigation bar to get to the model. Have a look at the present forecasts for the economy and decide what you think would be the most appropriate policies. Don't boost the economy too much though - you may cause inflation and, once there, it is very difficult to get rid of!

next (
General - Inflation

There are various causes of inflation, but there are two main ones to look out for when running the Virtual Economy:

1. Demand-pull inflation

 

2. Cost-push inflation

 

Demand-pull inflation happens when the level of demand grows too fast. UK firms cannot keep up with the growth in demand for their products and so prices increase (inflation) and more imports are brought into the country. To counter this and keep inflation down, you may need to reduce the level of demand. You can do this by using deflationary policies

. These could include:

· Increasing direct taxes

 and indirect taxes

 

· Increasing interest rates 

· Reducing the level of government expenditure 

Cost-push inflation tends to happen when wages or prices rise too fast. This increases the firm's costs and they have to increase prices again - a wage-price spiral

. To avoid this type of inflation, again ensure that economic growth doesn't rise too fast. If the economy grows too fast, this may put pressure on wages to rise. Low unemployment means that many employers will find it difficult to recruit and may have to offer higher wages to attract people.

Why not try some of these policies on the Virtual Economy? Click either on the 4th floor in the side panel or on 'The Model' in the top navigation bar to get to the model. Have a look at the present forecasts for the economy and decide what you think would be the most appropriate policies. Don't deflate the economy too much though - you may find unemployment increasing a lot. Unemployment and inflation do tend to move in opposite directions.

next (
General - External Balance

External balance means that you want to try to keep the flows of money in to and out of the country roughly balanced over a period of several years. If there are significant outflows of money (maybe because imports are higher than exports) then these have to be financed somehow. This may mean borrowing from overseas governments or banks, or perhaps attracting inward investment into the UK. However this financing is done, it is difficult to sustain at very high levels for a number of years, and so you want to try to avoid significant balance of payments deficits over the long term.

When you are running the Virtual Economy, you don't have any direct control over the balance of payments, but there are a few things to look out for to ensure that you don't get too many balance of payments problems:

1. Don't allow the economy to grow too fast. This will lead to imports increasing quickly to satisfy the extra demand. You don't want excessive growth anyway as you'll also get inflationary problems. 

2. Try to keep inflation low and stable. If inflation in the UK is higher than abroad then this will put UK firms at a disadvantage and make them less able to compete with overseas firms. 

3. Try to keep interest rates as low as possible (without letting inflation rise) to allow UK firms to invest and therefore become more competitive in the long run. 

Why not try some of these policies on the Virtual Economy? Click either on the 4th floor in the side panel or on 'The Model' in the top navigation bar to get to the model. Have a look at the present forecasts for the economy and decide what you think would be the most appropriate policies. Try to keep the balance of payments between reasonable limits of surplus and deficit and don't let it get out of control. If you want to see how quickly a deficit can develop, then try giving the economy a significant boost (using reflationary policies

), and see what happens to the balance of payments.

next (
Monetary Policy - Reflation

If the Monetary Policy Committee consider that inflation is falling and they will easily meet their inflation target, then they may consider cutting interest rates. If there is a danger of the economy suffering a downturn this will help reinforce this decision. Cutting interest rates will encourage people (and firms) to borrow more money. It will also give people who have mortgages more money to spend each month as their mortgage payments fall. The combination of these effects will increase the levels of consumption and investment. Since consumption and investment are two of the key components of aggregate demand

, cutting interest rates should result in increased economic growth and reduced unemployment.

The government could also allow the money supply to increase to encourage spending, but monetarists argue that if this is allowed to happen too much inflation will result. This is predicted by the Quantity Theory of Money

.

Reflationary monetary policies are therefore:

· Cutting interest rates 

· Allowing money supply to increase 

Why not try this on the Virtual Economy? Click on the 4th floor or on The 'Model' in the top navigation bar to get to the model. You do not have control over the money supply in the Virtual Economy, but you can try cutting interest rates. See what effect this has on economic growth and unemployment. Economic growth should end up higher than previously forecast, and unemployment lower. But what happens to inflation? What would you expect?

next (
Monetary Policy - The Impact on the Rest of the Economy

Interest rates

The effects of changing interest rates on the macroeconomy have already been discussed on the previous pages, but it is also important to consider the effects at a micro level. If interest rates are cut then this should increase the level of investment, but by how much? The amount by which investment increases depends on the interest elasticity of demand for investment. If investment is interest elastic then there will be a large increase in investment following an interest rate cut. This is shown in the first figure below. If investment is, however, interest-inelastic then there will be a much smaller increase, as shown in the second figure.
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The effect of an interest rate cut on savings also has to be considered. Lower interest rates will tend to discourage people from saving so much which may create a shortage of funds for banks to lend to firms for investment. For this reason governments will often try to encourage savings by offering tax advantages. An example of this is the ISAs (Individual Savings Accounts) that were introduced in April 1999.

Money Supply

Many economists argue that changes in the money supply will have an impact on inflation. Monetarists and classical economists use the Quantity Theory of Money

 to back up their argument that excess money supply growth will feed through to increases in prices. There is much more detail on this in the theory section of the Library. Use either the side panel (3rd floor) or the navigation bar at the top of the page to get there.

next (
Monetary Policy - Deflation

If the Monetary Policy Committee consider that inflation is in danger of rising and perhaps going over their inflation target, then they may consider increasing interest rates. Increasing interest rates will discourage people (and firms) from borrowing money. It will also give people who have mortgages less money to spend each month as their mortgage payments rise. The combination of these effects will reduce the levels of consumption and investment. Since consumption and investment are two of the key components of aggregate demand

, increasing interest rates should result in reduced economic growth and increased unemployment.

The government could also try to cut the level of money supply growth to cut inflation. Monetarists argue that this will happen as predicted by the Quantity Theory of Money

.

Deflationary monetary policies are therefore:

· Increasing interest rates 

· Reducing money supply 

Why not try this on the Virtual Economy? Click on the 4th floor or on The 'Model' in the top navigation bar to get to the model. You do not have control over the money supply in the Virtual Economy, but you can try increasing interest rates. See what effect this has on economic growth and unemployment. Economic growth should end up lower than previously forecast, and unemployment higher. But what happens to inflation? What would you expect?

next (
Debt Ratio - Explanation

Governments generally have to borrow money. This happens because they tend to spend more than they receive in tax revenue. As with any individual who spends more than they earn, the government has to borrow to fill the gap. This borrowing is known as the public sector net cash requirement (PSNCR)

. There is an extensive range of resources in the Virtual Economy on the PSNCR.

The PSNCR increases, each year, the amount that the government owes. The total amount that the government owes to people and financial institutions is called the national debt

. This will increase each year by the amount of the PSNCR and reduce by the amount that is paid off. For more detail on this relationship see the debt ratio theory section. The national debt is measured in billions of pounds (£bn), but we often need to know the significance of this level of debt. To measure this we take the national debt as a percentage of GDP, which is known as the debt ratio. The higher this percentage the more significant the debt is to the economy. This would be just the same for an individual. A debt of £5,000 would be very significant to someone earning only £10,000 - it would be a high percentage of their income. However to someone earning £50,000 it would be much less important. It is therefore the size of the debt compared with income that is important, not the size of the debt itself.

The debt ratio is important because the higher the debt ratio, the higher the interest payments that the government has to make. This takes up money that could be spent on providing other public services.

Why not also have a look at the relevant theories about the debt ratio, or have a go at a worksheet about it?

next (
Economic Growth - Explanation

Economic growth is growth in the level of national income. There are various measures of national income, but the one used in the Virtual Economy model is gross domestic product

. We measure growth as the percentage change in GDP. However, it is very important that we only take the percentage change in real GDP

. This means the change in GDP after inflation has been taken into account.

Economic growth tends to follow a cyclical pattern. There may be boom periods when economic growth is faster, but these may well be followed later by periods when the economy slows right down. This pattern is known as the trade cycle

 or business cycle.

Why not also have a look at the relevant theories about economic growth, or have a go at a worksheet about it?

next (
Inflation - Explanation

Inflation is usually defined as a sustained increase in the general price level. We measure it as the annual percentage increase in prices. It can be measured as a monthly change, but the most often quoted figure is the annual change. The prices usually measured are retail prices.

The index that measures inflation is called the retail price index. Inflation is changes in the RPI. There are other indices that measure different types of price changes. There are the wholesale price index, the pensioner price index and the tax and price index among others.

The RPI is measured by taking a large number of prices, working out how much each price has changed and then weighting the price changes according to their importance. This is because some price changes have a much bigger impact on people than others. For example, a 5% increase in food prices is likely to affect people much more than a 100% increase in the price of matches (unless they are pyromaniacs!). Food therefore gets a much bigger weighting than matches, and changes in the price of food will have a bigger effect on the RPI.

Over the last two decades, inflation has varied considerably. It tends to follow a cyclical pattern: increasing at boom periods of the trade cycle

, and falling when economic growth slows down.

Why not also have a look at the relevant theories about inflation, or have a go at worksheets about it?

next (
Inflation Theories - Costs of Inflation - Who pays?

Inflation will not only affect individuals, but will also cause problems for the whole economy. The costs of inflation include:

· Uncertainty - if inflation keeps varying, then firms may be reluctant to invest in new plant and equipment as they may be unsure of what the government will do in the future. People also may be uncertain and reluctant to spend. Both of these factors could reduce the long-term level of economic growth. 

· Income redistribution - many people have to live off fixed incomes, particularly those on pensions. The higher the level of inflation the less their income will be worth. This effect can also happen among people who are working, as their incomes go up either faster or slower than inflation. These effects can arbitrarily redistribute income. 

· Menu costs - this is a general term for all the inconvenient costs that businesses and individuals face. As prices increase they have to redo their price lists, change price labels, reprint menus and so on. If inflation is constant these costs can mount up. 

· Competitiveness - if our prices are increasing faster than those in other countries, then our goods will be less competitive and less in demand. This will have a negative effect on the balance of payments. 

next (
PSNCR - Explanation

The PSNCR - public sector net cash requirement - used to be called the PSBR - the public sector borrowing requirement. They are the same thing. They measure the amount the government has to borrow to meet all its expenditure commitments. Governments frequently spend more than they are earning in tax revenue, and so have to borrow to plug the gap.

There are two ways to measure the value of the PSNCR. The first is to look at the PSNCR as an amount of money - usually in billions of pounds (£bn). This is useful as a measure, but we may also want to consider how significant this figure is in the overall context of the economy. £5bn sounds a lot of money (and we would all like a share of it !), but in terms of the overall level of GDP it is fairly insignificant. So the other way to measure the PSNCR is as a percentage of GDP.

The PSNCR tends to vary with the trade cycle

. This happens because as the level of growth changes the governments expenditure and tax revenue will also change automatically. For example, imagine the economy is going into recession. As people lose their jobs, incomes fall and this means less income tax. They will also spend less which means the government gets less from VAT and other indirect taxes. At the same time they will need to be paid benefits, and this means an increase in government expenditure. The overall effect of the recession therefore has been to increase the PSNCR.

Why not also have a look at the relevant theories about the PSNCR, or have a go at a worksheet about it?

next (
PSNCR Theories - PSNCR and the Trade Cycle - Why does it vary?

The PSNCR tends to change along with the state of the economy. When things are going well and the economy is booming, the PSNCR will tend to be falling (unless the government is going mad spending on other things!). This is because a booming economy means low unemployment and low unemployment means less spending on benefits. Not only that, but when people are employed they will spend more, and this will boost VAT and other indirect tax receipts.

The impact of a recession on the PSNCR will be the opposite. Increasing unemployment means more spending on benefits, increasing the level of government expenditure. Unemployed people don't pay income tax, and others may find their incomes falling. The combination of these two effects means that the government receives less income tax. Spending also will fall as people have less money and are more reluctant to spend what they do have because of uncertainty about the future. As spending falls so does the government's revenue from indirect taxes

. As if all this weren't enough of a problem, the performance of firms will also affect the government's finances. In times of recession, firms' profits will fall, in fact they may even make losses. Since corporation tax

 is paid on profits, the governments tax revenues will be hit even further.

So boom periods should help to lower the PSNCR, while recessions and economic slowdown will tend to push it back up again.

next (
Unemployment - Explanation

Unemployment can be defined as the number of people (of working age) who are willing and available to work at current wage rates, but not currently employed. This is a relatively straightforward definition but working out how many people this is in practice is much more difficult. There are two ways that the total number of unemployed can be worked out, but both can be a little unreliable:

1. A claimant count 

2. A Labour Force Survey 

The first of these two was the method that was used for the whole of the 1980s and most of the 1990s. It simply involves taking a count of the number of people unemployed and claiming benefit. However, this method has many imperfections and so the incoming Labour government in 1997 changed to the second method of calculating unemployment. The Labour Force Survey is the current method.

Unemployment can be measured either as the number of people in '000s or millions and this is the most quoted figure. However, to give us an idea of how significant this number is, we often calculate how many people this is as a percentage of the labour force.

Over the last two decades, unemployment has fluctuated considerably. The peak level came in 1984. For the next few years unemployment fell rapidly, but rose again in the recession of the early 1990s. Since then unemployment has fallen onsiderably and is now at the lowest level it has been at for over two decades.

Why not also have a look at the relevant theories about unemployment, or have a go at worksheets about it?

next (
Unemployment Theories - Costs of Unemployment - Who pays?

Perhaps the main cost of unemployment is a personal one to those who are unemployed. However, if they suffer then the whole economy suffers. Individuals may become dispirited by unemployment, they may lose their self-esteem and confidence. This may affect their motivation to work. The longer they are unemployed the more they may lose their skills and this has to be bad for the economy as well. On top of that these problems (and financial ones) often lead to the unemployed being less healthy, and then the NHS picks up the bill. The whole economy suffers from people being unemployed.

As well as these microeconomic effects, there will also be macro effects. These will include:

· Loss of output to the economy - the unemployed could be producing goods and services and if they aren't, then GDP is lower than it could be. 

· Loss of tax revenue - unemployed people aren't earning and they therefore aren't paying tax. The government has lost out. 

· Increase in government expenditure - the government has to pay out benefits to support the unemployed. Along with the loss of tax this is a 'double whammy'. 

· Loss of profits - with higher employment firms are likely to do better and make better profits. If they make less profit because of unemployment, they may have less funds to invest. 

The answer then is - we all pay.

next (
Government Expenditure - Explanation

Government expenditure is vital for the efficient running of the economy. The need for much of the government expenditure arises from the facts that some goods will not be provided at all by a free market economy (public goods

) and that others will be under-provided (merit goods

). There is more detail on each of these types of goods in the theory section of government expenditure. It is spending on these goods that accounts for a large proportion of government spending (health, education, police and defence, among others).

Some government expenditure is aimed at providing a safety net for the less-well-off in society and ensuring that they are able to survive in the event that they lose their jobs or have insufficient income. The department that deals with the allocation of most of this money is the Department of Social Security. Payments of this nature are known as transfer payments

 and there is more detail on them in the theory section of government expenditure.

Other government expenditure is aimed at various areas that may be considered important in a developed economy - providing a transport infrastructure, supporting the work of local government and servicing any debts that may have been accumulated in the past.

The breakdown of government expenditure for 1999/2000 is shown below:
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The figures for each of these spending categories for the 2001/2 fiscal year are:

	Department
	Expenditure (£bn)

	Social security
	£109

	Health
	£72

	Housing and environment
	£18

	Defence
	£24

	Education
	£50

	Law and order
	£23

	Transport
	£10

	Industry, Agriculture and employment
	£16

	Debt interest
	£23

	Other
	£49


next (
Income Tax - Explanation

Income tax is very familiar (and perhaps disliked!) by all who work, but many people do not understand fully how it is charged. It is an important tax to the government as it is its main revenue-raising tax, though despite that it only represents just over a quarter of total tax revenue. National Insurance and VAT come fairly close on the list in terms of importance.

Over 25 million individuals pay income tax in the UK, but not all income incurs tax. The main kinds of income upon which income tax is levied are pay, pension payments upon retirement, unemployment benefit, profits from business, income from property, bank and building society interest and dividends on shares. Income tax is not paid on certain privileged savings products such as National Savings Certificates.

The structure of income tax in the UK operates via a system of allowances and bands. All individuals have a personal allowance which is deducted from total pre-tax income in order to get to the taxable income. In other words, the first bit of their income is tax-free. The rest of a person's income is then taxable and is subject to different tax rates depending upon the 'tax band' that income falls within. The figures for the tax year 2001/2002 are given in the table below.

	Income tax allowances 2001/2002
	£
	Income tax rates 2001/2002
	£ of taxable income

	Personal allowance (under 65)
	4,535
	Lower rate - 10%
	0 - 1,880

	Personal allowance (65 - 74)
	5,990
	Basic rate - 22%
	1,881 - 29,400

	Personal allowance (over 75)
	6,260
	Higher rate - 40%
	Over 29,400


Tax is collected by the Inland Revenue on what is called a 'cumulative basis'. This means that a person is taxed on the basis of what they are going to earn in the whole year and not just month by month. Most tax in the country is collected by the PAYE or 'Pay As You Earn' system. This means that employers deduct the tax directly out of a person's wages and give it to the Inland Revenue on their behalf - generous, huh?!

next (
Interest Rate - Explanation

The interest rate can be considered as the price of money. If you want to borrow money it is the percentage over and above the original loan that has to be paid back. This makes the interest rate a vital tool of economic management. A large amount of economic activity (both consumption and investment) is done on borrowed money, and so if the interest rate is changed it will either encourage or discourage borrowing and therefore tend to increase or decrease economic growth.

The new Labour government in 1997 passed the control of interest rates over to the Bank of England. The government set it inflation targets that it is required to meet and it changes interest rates as it considers appropriate to achieve these targets. If it thinks there is a danger of inflation rising it may increase interest rates to discourage borrowing, and if it thinks inflation is falling it may reduce them. This decision about interest rates is made by the Monetary Policy Committee

 of the Bank of England. This situation where the Bank set interest rates is known as 'operational independence' of the Bank of England.

There are many different interest rates in the UK, as interest rates will vary according to the amount of time money is tied up for (the longer term the investment the higher the rate on offer and vice-versa) and the riskiness of the investment (the riskier the investment the higher the rate is likely to be). Financial institutions will therefore usually set their rates from a base rate. All other rates for saving and borrowing will often then be expressed as an amount above or below the base.

Why not also have a look at the relevant theories about the interest rate, or have a go at the worksheet about it?

next (
VAT - Explanation

VAT (value added tax) is a tax on spending and is therefore known as an indirect tax

. In the UK it is currently levied at 17.5% on most purchases. There are, however, a variety of goods that are zero-rated for VAT, including most food, newspapers and children's clothes. VAT on these is therefore zero! It also used to be that fuel (electricity etc.) was zero-rated for VAT but this was ended in the 1994/5 tax year when the Conservative government of the time took away its zero-rating. However, a threatened revolt in the House of Commons resulted in the rate of VAT on fuel being fixed at 8%. This was reduced to 5% in 1997/8. The rate on everything else, however, is 17.5%.

As a tax on expenditure, the burden of VAT is intended to fall just on consumers. However, it is paid on all transactions by all VAT-registered firms, so how can this be? The way it works is that the firm pays VAT on all the goods and materials it buys and it also charges VAT on all the goods it sells. At the end of each month or quarter, the firm then works out all the VAT it has paid out to its suppliers and all the VAT it has received from its customers. The difference is paid over to HM Customs and Excise who administer VAT in the UK. The firm has therefore not paid any VAT itself; it is just the customers who have paid it.

The table below shows the amount of indirect tax on a variety of different products:

	Good
	Duty (pence)
	Total duty as % of price
	Total tax as % of price

	Cigarettes (20)
	
	
	

	specific duty
	183
	
	

	ad valorem (22% of price)
	96
	64.2%
	79.1%

	Wine (75cl)
	116
	35.9%
	50.8%

	Spirits (70cl)
	548
	44.8%
	59.7%

	Beer (pint of bitter in pub)
	26
	14.4%
	29.3%

	Petrol (Lead Replacement - litre)
	51
	64.8%
	79.7%

	Unleaded Petrol (litre)
	49
	64.2%
	79.1%

	Diesel (litre)
	49
	63.2%
	78.1%


Why not also have a look at the relevant theories about VAT and other indirect taxes, or have a go at some worksheets about it?

next (
VAT Theories - Indirect Tax - What happens to market prices?

There are two main types of indirect tax - a per-unit tax

 and an ad-valorem tax

. A per-unit tax is one where the amount charged is always the same on each unit. Examples of these in the UK are the duties on alcohol and cigarettes. An ad-valorem tax, by contrast is one where the tax is charged as a percentage of the value of the good. This is where VAT comes in, as it is always 17.5% of the value of the good.

The effect on the market equilibrium will be slightly different for each of these two types of tax. Let's look first at the per-unit tax. This sort of tax will be paid over to the government by the firm and will therefore shift the firm's supply curve. To be willing to supply the same quantity as before, it will now want the price to be higher by the amount of the tax. The tax has therefore shifted the supply curve vertically upwards by the amount of the tax. The impact of this on the market is shown below:
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As you can see from the diagram, the equilibrium price has risen and the equilibrium quantity has fallen. The extent to which this happens depends on the elasticity of demand for the good or service. There is more detail on this further on in this theory section. Click on T3 below to access it.

For an ad-valorem tax, the principles are the same but the effects very slightly different. The tax will still shift the supply curve vertically upwards as the firm will want a higher price to compensate it to supply the same quantity. However, because the tax is a percentage of the value of the good, it will shift by different amounts according to the price of the good. For example, the VAT on a good costing £10 will be £1.75, but for a good costing £100 it will be £17.50. The effect of this on the supply curve is shown in the diagram below:
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The impact on the equilibrium price and quantity therefore depends on the amount of the tax and the original price level. The elasticity of demand will also be important - for more details on this try looking at T3 below.

next (
VAT Theories - Progressive or Regressive - Who pays what?

One of the 'Canons of taxation'

 developed by Adam Smith said that a tax should be linked to 'ability to pay'. VAT does not tie in with this because the amount of VAT on a particular good will be the same for everyone, however much they earn. This means that VAT is regressive. In other words, the more people earn the less the proportion of their income they pay in tax. Regressive taxes will hit less-well-off people harder than the better-off.

A progressive tax, on the other hand is a tax where the more people earn the more the tax represents as a proportion of their income. The full definitions of each type of tax are:

Progressive tax - a tax that represents a greater proportion of a person's income as their income rises. In other words, the average rate of taxation

 rises.

Regressive tax - a tax that represents a smaller proportion of a person's income as their income rises. In other words, the average rate of taxation falls.

Proportional tax - a tax where the percentage of income paid in taxation always stays the same. In other words, the average rate of taxation is constant.

The balance of these taxes can have a significant effect on income distribution in an economy. If a government chooses to switch the balance of taxation from progressive to regressive taxes then the less-well-off in society will be harder hit.

next (
Chancellor's Office

Welcome to the Chancellor's office in the Virtual Economy. The Virtual Economy is based on the model of the economy used by the Treasury and you can use it to experiment and see if you can run the economy better than the Chancellor.

In running the economy, you need to try to look carefully at what happens to the main economic targets. The four key targets are:

1. Low inflation 

2. Low level of unemployment 

3. A high and stable level of economic growth 

4. External balance between imports and exports 

However, as you try to do this, you will find that there are trade-offs. As one of these targets gets better, another will often get worse. You will have to make decisions about which are most important. For more details on each of these, why not go to the outcomes section on the Economic Policy floor (the 2nd floor)?

You may also want to see the effects that different policy tools have on the economy. The main policy tools at your disposal are:

1. Income tax (rates and allowances) 

2. VAT and other indirect taxes 

3. Government expenditure 

4. Interest rate 

5. Benefits 

There are also full details on each of these in the policy tools room on the Economic Policy floor (the 2nd floor). There are explanations of each and theories relevant to them, as well as worksheets to help you see the effects.

You might want to get some advice to help you by using the advisers' room on the Economic Policy floor (the 2nd floor). You could also use the Library (the 3rd floor) to do some research on different economists and the policies they recommended, or to find out about economic theory or simply to look up some economic jargon in the glossary.

Above all, we hope you enjoy finding out what makes the economy tick. When you find out, let us know!

--END--
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